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9101 58208 (A) 9:10 FR R0 2 T AR TREIREE
9102 58208 () 9:10 F200 2T A 7BEE 3RE=E
9104 58208 (A) 9:10 FR R0 2 T AR TREIREE
9105 58208 () 9:10 F200 2T A 7BEE 3RE=E
9106 58208 (A) 12:20 FR R0 2 T AR TREIRBEA
9108 58208 () 12:20 F200 2T A THEE 4 RBEA
9109 58208 (A) 12:20 FR R0 2 T AR TREIRBEA
9110 58208 () 12:20 F200 2T A THEE 4 RBEA
9111 58208 (A) 12:20 FR R0 2 T AR TREIRBEA
9112 58228 (K) 9:10 F200 2T A 7BEE 3RE=E
9113 58228 (K) 9:10 FR R0 2T AR TREIREE
9114 58228 (K) 9:10 F200 2T A 7BEE 3RE=E
9115 58228 (K) 9:10 FR R0 2T AR TREIREE
9116 5A228 (XK) 12:20 FHE R T R £ THEE4RBEA
9117 58228 (K) 12:20 FR R0 2T AR TREIRBEA
9118 58228 (K) 12:20 F200 2T A 7HEE 4 REBEA
9119 58228 (K) 12:20 FR R0 2T AR TREIRBEA
9120 58228 (K) 12:20 F200 2T A THEE4RBEA
9121 58268 (B) 9:10 FR R0 2T AR TREIREE
9122 58268 (A) 9:10 F200 2T A 7EEIREE
9123 58268 (B) 9:10 FR R0 2T AR 7% I REE
9124 58268 (A) 9:10 F200 2T A 7BEE 3 RE=E
9126 58268 (B) 12:20 FR R0 2T AR TREIRBEA
9152 58268 (A) 12:20 F200 2T A 7HEE 4 REBEA
9154 58268 (B) 12:20 FR R0 2T AR TREIRBEA
9155 58268 (A) 12:20 F ) 18 FT 7 88 TREEIRBEA




